RM951-16

FEITN o.

OREC

2

J

Y

i

{3

S
{
i

\

2
N\

N

W
i
<

f

Wi

ayy
I £%

.\h/l /V\ S N

ik

}
.

L
hyA

=]

A 2V

vovarysHST
NV RNV

~
3
~

L
hYA
=]

2023424 H 18H

{

37

5]

HOYFT T
TV T AT



HPEERDIFERC DT

1. BPERRDEERLIC DT
COEP@RR( YU M) R EEBmBAlERN SBM SN TLE T,

2. B@mEDEASICDLT
PFFEOMBBEZLEDAND L, ZHEIDIERODHERDOEE UES(CELDT. HEREROISRES.
ma&. —BHEDOEFREZE,. SRS HARTZE0,

3. ERmRDIBRRDIRT
RUULESZTEHDIHFETERRUTEDXT,

4., BIEES(CDOULT
HRES(E. ROBCRO>TNET.

(1)

36~4251 Y~ (12x5. 50-6) HBRES EEREISHCTRES)
36 |F04%7 (12x5. 50-6) O00O0-00000
YRR E D EamES (BEmI—R)- BMzOd—R)
38 |7/RfJ)L (12x5. 50-6) OO0-0000-000-00
39 |/RAILRXR EAEER MR 89 -0O000-00000OO0
40 ["EBARILEM8x16 EEEEEE 83 -0000-000000
41 |[ABRILEM8x20
42 |"AFvhk (SW) M8

5. BBE@EXICDLT
B@mE. £ TCIACE1I -9 —TEEZIN VDR, TEXORSHER. BaEsS. Bfnk. HE%.
F(CEPmES(FRMEC. JRALIESL.

6 . ARSTEMEE R EDRDIRFEEAT
T2 EFEEm. ROUHERJT RILh. Fv bEF)DTEX(E, BRBIRKFEHTHEBNUET,

7. EERMCONT OS2 R - BRI >SS DFRR)
REMDTIL I 7y MNIFELRDT EZRLTNET,

OR A—LvIITSUR M SYEL IV
IA ISEKIZ7 TSk K I FIOD R
YB PEVITIUR R AEV I O
C HRATU DA
8. 5 —XRTIL——8
HmES LTS MmES LTS
89-9990-110-10 RAFL—(F—Lv% LYKCF) 89-9990-140-00 ATL—(VILR—)

89-9990-120-00

RIL—(F—Lwy KITAH)

89-9990-190-00

RIL—(F—Lvy JL—)

89-9990-130-00

AFL—(F—Lvs TIL—)

89-9990-200-00

RIL—(TF—DF75)—V)

89-9990-240-00

AIL—(T5v%)

89-9990-270-00

RATL—(N\—F=yH51)—)

89-9990-280-00

RTL— (o A3)




R

No.RM951-16

/52|15 — L8 1/14

He
HE
<
m x
> (©)
1111&
Eal
<
X
m| |9
g 2R
Lol
RIS
>, Y
~[H|X|£|og
A5
NS
NEENINEE
ojp
olololo
SRS
TIT|TT
N BN N B
[s2] Ksel Kar] Kae)
l=1t=1t=11=}
[~=X
Ho
illy
<|M|N|—
W




No.RM951-16

R

2/52

JL—LE 2/14

7 89-1714-080002  |FrEsE 8x18x 1.6 (L) 2

6 89-1543-080002  [/MEIRFEFvH(ESW) M8 2

5 89-1233-080202  |/MEYFR AL F(SW.PW)M8X20 4

4 89-1233-080162  [/NEUFRAARILE(SW.PW)MEX16 2
0312-77700 HARADILEST 1 [IA

3 0312-76700 HARADILET 1 |[yB
0312-73300 HARADILERE 1 OR
0312-77800 HARADILES 1 [IA

2 0312-76800 HARADILET 1 |yB
0312-73200 HARADILERE 1 OR

1 0267-40900 mrIRILEM 2

B B & B 5 B & 4 [ & =




No.RM951-16

JL—LE 3/14

@ = ﬂv‘\\“\

89-3510-016250

DUDwi a1 16.25 2  |XKHBHIZIZFE
89-2521-000120 |[EEIiF&HiEF 12 1 [XKHBHIZIIFRE
89-1543-080002  |[/MEUFREFvH(ESW) M8 2
89-1531-060042  [FE{ft7<FEF Vb M6 2
89-1233-080202  |/MEYFRA AL F(SW.PW)M8X20 2 [XKHBHIZIZFE
89-1233-080162  [/NEUFRAAILE(SW.PW)MEX16 6
12 89-1159-080168 |FSR/INAT M8X 16 (EAy¥) 2
11 89-1137-060172  |7NARILEPW) M6X17 77 tyh 2
10 83-1515-975-00 [FJR=w7)L CE! M6 1 [XKHBHIZIZFRE
9 83-1484-369-00  |9YAYAY'—4')y7'(5347) 20
g 0323-70100 ATvI 3L 1 XKH,BHIZIZAE
0322-70300 ATvI 3L 1 XKH,BHD #
7 0322-25200 22 —ZXT YT CMP 1
6 0322-25100 ATY7 1
5 0312-71200 ETAGNIT L 1 XKH,BHIZIZFRE
4 0312-70700 Rorybo)v71.0 1
3 0312-15203 AR ) AT—CMP FL— 1 [XKHBHIZIZFRE
2 0312-10503 FIORSJLCMP L — 1 [XKHBHIZIZFRE
1 0028-70500 R ER AT 4
e ned B & B B B & 4 [ i =




R

No.RM951-16

4/52 |5 — L 4/14

HE
B
||| —
Eal
o)
SRS
22l |
MM‘me
okﬂb
| D oo
X|H|Z|S =
N 2O
X ssl/
oﬁmﬂ
A R
R
‘/I_/j
alREN N
P 1
Er|&| <>
ol ea|ed] [ER
o|<|©
olo|d|m
SEEE
1110%
R R
~|©|~||0B
|||
RIRERL=)
ol|lo|o
®|X|D| ==
4321_”__w




No.RM951-16

R

5/52

JL—LER 5/14

e 11t |
S > S5 =017

- 0322-71000 BREL A2 I ASSY 1 [4.5.7

13 89-1716—-080002 [FFESE 8X22X1.6 2

12 89-1232-080162  |/MEIFRARILFSWIMBX16 2

11 89-1233-080202  [/MEUFR AL F(SW.PW)M8X20 6

10 89-1233-080162  [/NEUFRAAIL(SW.PW)MEX16 2

9 83-1711-719-00 [T A4 —/ > F200mmE 1

8 0341-71200 R/ R(L=200) 2

7 0322-76000 NV E v TASSY(881) 1

6 0322-73400 B NIN—FR 1 |yB
0322-73200 B9 H8\—H 1 [IA-OR

5 0322-71800 T—=UEREARY 1

4 0322-70700 4L 1

3 0322-60402 RELAHAIN—RT— F 1 [yB
0322-60401 BREIAHHIN—RT— B 1 [IA-OR
0322-60206 ARBIIA—Hh/IN— F 1 JIA

2 0322-60205 BRBIIA—H/N— F 1 |yB
0322-60201 BRWm I A —Hh/N— B 1 |oR
0322-60106 BUOHRILE—CMP_ & 1 JIA

1 0322-60102 B RILE—CMP_Fk 1 |yB
0322-60101 A 91RILE—CMP_H 1 |oR

&= B & ' 5 B & % =R li& =




R

No.RM951-16

6/52|5 — L2 6/14

l
©
P HE
H
B
AN|—|— 11“.—H—|
©
X _
00 NS
= ™
P,m _ o
=5 e
NS > =1
Z|S G
S| L
~./s/ Y
n—mo\ Bol/o
~ .EDAZ
7 o |HOof 2
KL N
AT B
S[DR| N H| IS [HE
oo iy
©o|S
Sle 318
3|= Ko [HE
___ AN|—
al= NS
N~ |0
RN o|lo
o|™ -
co|od k7




No.RM951-16 §§ %ﬁ’\

1/52

JL—LER 7/14

10 89-1711-080002 [FEEZL 8X18X1.6 2

9 89-1631-080042  [EE{H/NEIRAF vk M8 1

8 89-1611-080042 [/NEINEF vk M8 1

7 89-1561-080002  [/ME!UF vk M8 1

6 89-1233-080202  [/MEIZK AL MSW.PWIM8BX20 5

5 — 2w a3 HSTER 1 |§¥¥ P15~
4 0322-73800 B L 1 [FUTRADH
3 0322-60303 JFZRI)LhH/N— FL— 1

2 0301-60400 EILLI0 1

1 0207-75400 JL—FX/ 230 1
&3 B &' 5 3B & % EE w &




No.RM951-16 §§ %ﬁ’\

8/52

JL—LER 8/14

- 0322-72000 < H—/\—H AASSY(RM881) 1

13 0312-75900 20— O0—kEa1—X 30A 1

12 0322-72100 IH—/\—HA(RM881) 1

11 89-1631-080042  |EEfH/IMEZ7/NAEF vk M8 3

10 83-1484-369-00  |7YAYAY=41)y7'(5347) 2

9 80-1792-976-00  [n'v7!)(30A19L) 1

8 - J02 &R 1 |§¥H P28~
7 - INUKRJLER 1 |55 P24~
6 0322-72300 NyT=hyay 1

5 0322-72200 NyT)=-C)Fr=7 I 1

4 0322-22203 INYT)—RILE— FL— 1

3 0322-22103 NyTYX¥YT7 JL— 1

2 0207-77100 NyT)=-(HF5=7'I 1

1 0207-63200 NYyThN = 1

B B & B 5 B & 4 [EE & =




No.RM951-16 %E %&’\

9/52 |5 — L #B 9/14

Y

A\

D

89-3510-016250

DUDJws a1 16.25

89-3510-016150

DUJw<a 16.15

89-2521-000120

ERLEDHER 12

89-2131-120002

REY 12

89-1711-120002

EES 12X22X2.3

89-1611-100042

INEIFRAF YR MI0

89-1213-100352

INBIZR AR )LNBT) M10X35

89-1213-100302

INBIZR AR JLINEBT) M10X30

83-1711-719-00

24 —/\>k 200mmB

83-1415-975-00

FYR=vT)LM6

80-1493-354-00

AyRRL/AR

— ] — ] — ] — ] — — ] — ] —
= fw|s oo |w]e|o|S 2R el alala]|T

— | | |t |t |t [t O N = = N =N

avkOo—)LE ¥ P33~
0322-13200 JL—*0OvyKCMP
0322-10403 ITL—F RS JLCMP 5L —
0312-71100 TJL—FRA LTI L
0312-23200 JL—x%Xby/NRELIFA
0312-23100 JL—F XY/ \CMP
B B & & 5 B & 4 & =




No.RM951-16 §§ %ﬁ’\

10/52/5, 1,28 10/14

S

w@ ga_1p

A

A
<

- 0227-42000 AT arT—1)— SET 1 4.6,13.15,16
- 0227-41000 AT 3T —1)—A SET 1 |5.7.13.15,16
17 89-3510-016250 [DUTJw< a1 16.25 2
16 89-3115-062024 |74 6202 2RS 4
15 89-2512-000350  |yNFHIESHEH 35 2
14 89-2511-000160 |[EhFH1E&HER 16 1
13 89-2511-000150 [EhFH1E&ER 15 2
12 89-1750-100002 [/ \REZL ¢ 10 2
11 89-1713-100002 |FEEE 11X25X2.3 2
10 89-1613-100042 |/©NEYRAFvb M10(35F) 2
9 83-1020-363-00 |RS AR v r— 16X24X1.0 2
8 0322-41203 FAI7T3 0 F7—LCMP HL— 1
7 0244-42800 ToarTARS—HEH 1
6 0227-40400 FAIT a3 T—1)—8h 1
5 0227-40300 AT a3 T—1)—A 1
4 0227-40200 FAIT a3 T—1)— 1
3 0207-78400 AT arEENR 1
2 80-1483-568-00 |F47TUVavEN YN % 1
1 80-1482-549-00  [31"L\hin —58 2
B B & B 5 B & 4 [EE & =




No.RM951-16 %E ﬁ\ﬁ’\

/52|51, — 1.8 11/14

83-1032-760-00 |73 J—!)—SET 7,13, 14

89-3510-016150 DUZwvia 16.15

89-3115-062034 [NT71)> % 6203 2RS

89-2512—-000400 [7vFH1E&HER 40

89-2511-000170 [EhFH1E&ER 17

89-2511-000160 [EhFH1E&HER 16

89-1611-100042 [/NEURAF vk M10

89-1233-080202 INBUFR A 7R )L R (SW.PW)M8BX20

89-1211-100252  [/NEYRARILE M10X25

83-1032-765-00 |F> 3> J—!1)—

83-1020-363-00 |RS ATy — 16X24X1.0

80-1485-551-00 |[FEfTT I av /A2

80-1482-549-00 |3 AAn—58

—_ === ==
e D CS) EN (31151 BN 121 (=1 b=l v el I P B
— | | TN |t |t |t ot |t |t |t N | —

0322-41403 FTToAVINRT —L HL—
0322-41303 ANIMEZCMP FL—
0322-41103 F1TTUV3VT7-LCMP H L —

B
Jio

B & & 5 B & % (EE: &E__#




No.RM951-16

R

12/52

IL—LER 12/14

12 89-2521-000120 |[EE!iE&HEg 12 8
11 89-2131-160002 [RE> 16 2
10 89-1232-080162  |/IME7NARILESW) M8X16 2
9 83-1751-311-00  [FFEE 8X25X2.3 2
8 83-1415-975-00 [HJR=w 7 JLM6 8
7 80-1484-276-10 |ET/\=x 2
6 0322-51403 20 K8) 97 —ICMP(R) YL — 1
5 0322-51303 YF7I)HT7—LWLCMP Y L— 1
4 0322-51203 7)o HT7—LRCMP L — 1
3 0322-51103 20VK8) 97— CMP(L) YL — 1
2 0227-11503 FTFEKE7T-L JL— 2
1 0207-76800 FEL16 X 32 X 2.6(70A—R) 2
B B & B 5 B & 4 [EE i =




No.RM951-16

R~

13/%215, — 1# 13/14

- 0322-73700 2!)—0y460SET 1 [1.7
- 0244-11000 FEOYRASSY 1 [3.4.5.12
23 89-3511-010150 |[DUJw< 2 10.15.18F 1

22 89-3510-012200 [DUTw< 2 12.20 1

21 89-2181-080692 |FEEE> 8x69 (7vF) (VA*—N) 1

20 89-2181-080282 |FEFEEL 8x28 (Fvh) (HOA—h) 1

19 89-2181-060202 |FFEE> 6X20 (7vF) (ZO*—k) 1

18 89-2132-060002 |[RE>kIFIE&SHIT) 6 3

17 89-2131-080002 [RE> 8 2

16 89-1711-080002 |FEES 8X18X1.6 2

15 89-1711-060002 |FEEL 6X13X1.0 3

14 89-1611-100042  [/MNEIRFAF vk M10 1

13 89-1543-080002  [/MEIRFEFvH(ESW) M8 1

12 89-1511-060042 |;NEF vk M6 1

11 89-1211-100907  |[/MEUFRAARILE M10X90(£ ) 1

10 89-1137-060122  |7NARILEPW) M6X12 77 b 1

9 83-1020-355-00 |RSRART v r— 12X24X1.0 2

8 80-1484-354-10 |[JL—*%AvkO—5 1

7 0322-73900 2')—0y4FLC75-60 1

6 0244-22600 JL—xOvyk R iR 1

5 0244-11600 B—2 1\ )L (INMTR) 1

4 0244-11500 FEOVR (E) 1

3 0244-11400 REOVE(H) 1

2 0244-11300 Jwia10yRFZ(+CMP 1

1 0244-10500 Oy yS r— 1
B B & B 5 B & 4 [EE & =




No.RM951-16

R~

14/52

0244-11200

7w 2 OvKASSY

89-2521-000120

ERLEOEH 12

89-2511-000130

B DER 13

89-2132-060002

REVURITIEDHR) 6

89-1711-060002

EEE 6X13X1.0

89-1631-080042

B INERAFTYE M8

89-1233-080202

INBIZS AR )L S(SW.PW)M8BX 20

89-1132-060162

NARILESW) M6X16

83-1415-975-00

FYR=vT)LM6

80-1792-988-00

IN—FRRG) T

_ === === == =N N
ol 51 ST B (300 £=2 BT -C] (3] e o e e i et = e Py P =T R

NIN|= === ]|—=]= === == IN]|DIN|W|lWw|—=|—=|—

0341-10501 L TFiEfGEEHCMP B
0322-75210 FA42TL—F DAY —
0322-75110 WERISYFIA Y —
0322-20103 JL—.LCMP L —
0322-13401 F+42795yFL/N—CMP 5
0322-13300 TEAAYTFET R/ AR
0289-71300 RM&) T (k)
0244-70200 NIEvIDPPI
0244-13700 74— 34 FCMP
0244-10600 7 yyaayh
0207-74400 t+—2JF4—RAYF K17850
0207-72800 2/ vFaOvHF vk

e nel B &' 5 - EE w &




No.RM951-16

R

15/52

2y aVHSTHER 1/9

19 89-2150-070500 |F— (/M #L)7 x50 2

18 89-2120-350352 [EIE> 3.5X35 2

17 89-1750-160002 [/ \AREZL ¢ 16 2

16 89-1750-080002  [¥— (i) 7 X 50 1

15 89-1658-160042  [/NEVEfF v (IEEI2FE)M16 2

14 89-1631-080042  [FE{fT/NMEZRAFT VA M8 3

13 89-1561-080002  [/NE!UF vk M8 1

12 89-1233-080202  [/NEIFK AL F(SW.PW)MEX20 1

11 89-1211-080352  [/NEURARILE M8X35 1

10 83-1630-335-00 |FEE 16X40X4.5 2

9 80-1425-551-00 [EfTTrarsIERTYLY 1

8 0323-09000 SvS 3 HST ASSY 1 [E£#8 P16
7 0322-01503 SyiavRAT—CMP L — 1

6 0272-34000 £ 8H(16 X 7.00-8)FHASSYAR R {it 1 =tH P32
5 0272-33000 % 8/(16 x 7.00-8) A ASSYR R 1 =tH P32
4 0244-83200 INBIZS AR LMSW.PW)M10 X 25(7TAy44F) 4

3 0207-77800 RAIKRRF A —)L 2

2 0207-07403 J72h/\—B4t CMP Y L— 1

1 0207-07203 J7 o hiN— HL— 1
Rl B & B B B & 4 [EE & =




No.RM951-16

R

16/52

Swi a3 HSTER

2/9

11 89-5222-04500 024 G45 2

10 89-2150-050200  [¥— (i) 5X20 1

9 89-1750-080002 [/\REL ¢ 8 2

8 89-1251-081123  |EEfH/MEZ7NAARILE M8X112 2

7 89-1232-080122  [/MEYFRAARILE(SW) M8X12 4

6 89-1233-080202  |[/MEUFRARILEESW, PW)) M8X20 2

5 0322-09200 HSTa=wKKYB) ASSY 1 £#0 P23
4 0323-09100 2w 3 ASSY 1 tH P17~
3 0207-07500 7o 1

2 0207-07300 mrIARILE 105 2

1 0207-03103 Swiavh—kK JL— 1
e ned B & B 5 B & 4 [EE [l =




No.RM951-16

R

17/52

2y avVHSTHER 3/9

- 0207-73000 JL—FASSY 2,3.4.5.7.9. 11,15
- 0207-73100 JL—XASSY (PAZEL) 2,4,5.7.9, 11,15
0207-73200 TL—FTHASSY 2,5.7,9.11.15
- 2L—F728TL—F7—L XASSYHED m H#a R D7 15

89-5125-153007

Z 4L —)L(Tv3HE)UE 15.30.07

89-2511-000150

EHALEDER 15

89-2120-200152

Y 2X15

89-1750-100002

INREE P10

89-1750-060002

NREE $6

89-1712-100000

FE2EAL) 10X21X2

89-1711-080002

EEZ 8X18X1.6

89-1611-100042

INEYFRAF YR MI0

89-1113-060122

FNARJLNEBT) M6X12

80-1030-285-00

La—RL/AAR

80-1030-282-00

IJL—FFS L (PA-7)

e DY (XY N 13,1 1= BN -CY 1<) b= g oy P I P

e el el e e oY e e B P Y e B B e e e Y e

0308-00300 IL—FH/N\—PK(PA-T)
0244-88100 JL—%Ya—(PA-1) vk
0207-10300 b—*Paqvk
B#5 | 8 @m & S Mm% {E %% w =




No.RM951-16 §§ %ﬁ’\

18/52129 2 HSTER 4/9

0289-01000 SwsalAAILT 54 ASSY

0244-08000 A4 )L —)L25.47.15(DP{¢)

89-5221-024000 |04 P24

89-5121-304707 A 4L —)L UE 30.47.07

89-5121-284708  |A 1)L —JL UE 28.47.08

89-5121-122207 A4 —)L UE 12.22.07

89-2512—-000470 |[7vFH1E&HER 47

89-2151-050200 [F— (K #.)5X20

89-1750-060002 |[/\REL ¢ 6

89-1543-080002 [/MNEYFRAFvRESW) M8

=

89-1252-100122 E{T/NEZAAARILE MIOX12GAE )

89-1232-080202  [/MEz7<FARILE(SW) M8X20

89-1113-060202 NARILEET) M6X20

83-1482-311-00 EEESE 6.5X22X3.2

83-1415-671-00 [ —)L¥ v T 22

83-1415-663-00 DP 25.30.46.09.15

83-1020-349-00  [#/\v¥> 10

=== === == =N N
i Ed Read B Rl S5d Il el R PO P 1Y Y IPNY P PN ) 1 7Y (Y g I
—_— et |t |k [ N = | = [N | = | = | O | = |t | =t | =t | b | b |t | h | | ok [k

0342-77800 R71)% 6005 2NSE-NB
0289-01100 SviavAAILTSYT
0284-40203 Sy J—YH) FL—
0244-01103 B —XAALZCMP FL—
0215-00103 ETIIVFT-L JL—
0207-06100 I7J)—H—

B
Jjn

#H m & 5 B & A (EE: &=




No.RM951-16 %E ﬁ?&’\

19/52129 2 HSTER 5/9

14 89-5121-204208  |A 4 JL> —JL UE 20.42.08 1
13 89-3410-080000 [$HEkS 1
12 89-3115-060044 |71 % 6004 2RS 2
11 89-2512-000420 |yNFHIEHER 42 1
10 89-2511-000170 |[EhFH1E&OER 17 1
9 89-2150-050160  |¥— ({#i3#.)5X16 1
8 83-1482-143-00 |/NEAZYT 24/~ M8X25 12
7 83-1020-148-00 |/NEAZYTEA+ M6X14 2
6 80-1310-138-00 |/YFARTY Y 1
5 0207-01900 ORI Z 1
4 0207-01700 AYH 7—LCMP 1
3 0207-00400 20T RINLSJLIAEFY 1
2 0207-00300 AR 1
1 0207-00100 Syl ahr—AL 1
e nel B & B 5 B & 4 [EE & =




No.RM951-16 %E %&’\

20/52\2$, 3 HSTER 6/9

) '

ZY

14 89-3111-062034 [RF71> %4 6203 2
13 89-3111-062024 [RF7U> %4 6202 2
12 89-3111-060044 [XF71J> 4 6004 4
11 83-1020-361-00 [RSRKFTwi v— 15X24X1.0 1
10 0244-00400 Dy 1
9 0215-00500 CEMN7— 26 1
8 0215-00400 Y7h+r 28 1
7 0215-00300 JL—X 8 1
6 0207-01600 IR TA—DECMP 1
5 0207-01400 DEj 37T XV 1
4 0207-01310 JL—X§ 34TxV 1
3 0207-00700 CEH 1
2 0207-00600 B 1
1 0207-00500 20T RANNASILIABXY(RH) 1
B B & B 5 B & 4 [EE & =




No.RM951-16 %E %&’\

21/92\2$, 3 HSTE 7/9

0244-08000 A AL —)L 25.47.15(DP{)

89-5121-304707

A 4L —)L UE 30.47.07

89-5121-284708

A AL —)L UE 28.47.08

89-5121-122207

F AL —)U UE 12.22.07

89-2512-000470

NEHIESHEE 47

89-2111-050022

2TV HEY 5X22

89-2111-030020

2TYVHEY 3X20

89-1543-080002

INEYFRAFYRESW) M8

89-1232-080202

INE AR ILS(SW) M8X20

83-1415-663-00

DP 25.30.46.09.15

80-1830-113-00

T209974—4

80-1488-153-00

T2099F7—L

e DY (XY N 13,1 1= BN 1-CY 1<) b= o oy e I P

0342-77800 K745 6005 2NSE-NB
0244-01203 Hir—XECMP JL—
0207-01800 T 20997+ —8H
0207-00200 Syiasr—xX R

| == NN = === === =] ===

0

BX

\

& & 5

B M %




No.RM951-16

R

2y aVHSTHER 8/9

89-3510-028300

DUDw< 2 28.30

89-3410-075000

#HEK7.5

89-2511-000400

AR LEDER 40

89-2511-000280

B DER 28

89-1750-100002

INREE @10

89-1613-100042

INRRAF YR M10(3FE)

83-1830-382-00

ATGART v —40%x 48X 1.0

e DS Y N 13,1 1= BT 1-CY 12 by o e e g e

80-1751-162-00 [HAKHSYFRTY Y
80-1481-155-00 |F X \VEHS—
80-1481-152-00 |T ¥V 11T
80-1481-151-00 |[F27L—k
80-1425-143-00 |T27HAvHa—>
80-1415-150-00 |H#HE>
0244-00300 EHHH39T TV CMP
0207-02220 Hi#h B CMP
0207-02120 Hi#h £ CMP
e ned B & B B B & 4 =




No.RM951-16

R

2y avVHSTHER 9/9

AAILZHIASSY (BxvyD)

0322-01600 3.8.9
89-2151-050160 |F—(F #)5X16

89-1543-080002  [/NEURAFvR(ESW) M8

89-1511-060042 |;NEF vk M6

89-1113-060122

FNEARJLNMET) M6X12

- 1
16 1
15 1
14 1
13 1
12 0322-71600 KoORkE—k 1
11 0322-01401 HSTA ZEUFCMP_H 1
10 0312-74400 R—R/\UK 16-25 2
9 0312-01800 HSTA Y X vy 1
8 0289-71200 i AE 1
7 0244-72700 HST7/R—ZR 1
6 0244-01403 IZE7-LCMP T L— 1
5 0227-74200 A X —/ 2K 300 1
4 0207-79800 PR D) 1
3 0207-08610 FAWEUH(BIK) 1
2 0207-07700 ik —b 34 Ub 1
1 - HSTa1=wk 1 XALAEIEHSTL= U RASSYDH BEP17

0

BX

N

B & B 5

B & A

2}
v

i

z




No.RM951-16 §§ % N

24/92| )\ RJLER 1/4

HEDH
(Ea=2Ry TAREE N\ R R )

- 0262-70100 /JF/\2 K JLASSY 1 [2.3.4
15 89-1812-060002 |EH{+EES (NEE)6 1

14 89-1713-100002 |FEEL 11X25X2.3 1

13 89-1561-100002  [/NE!U+ vk M10 1

12 89-1531-060042  [FEE{ft7RFAF Vb M6 2

11 89-1159-060108 |[FSR/NINAT M6 X 10(EAyF) 4

10 89-1137-060152  |7NARILEPW) M6X15 2

9 89-1137-060102  |7<AKRILFPW) M6X10 2

8 0322-73000 T YRR AYFSET 1

7 0322-11501 A—=B—/\RILHN— B 1

6 0312-77900 Eai—XRyHRE 1 [XBEDH
5 0312-11701 NRIWAT—hN—HZ B 2

4 0262-70500 ATF7IV T Xy 1

3 0262-70400 ATTFITHRA—IL 1

2 0262-70300 +J/\2K)LASSY 1

1 0207-79200 E1—R & 9IR7 F09b 1

e nel B & B B B & % [EE & =




No.RM951-16

R

25/92| )\URJLER 2/4

e &

~HRADM?S592

—
@ =
Qo ¢

P

HRADMS93 ~

18 89-1750-080002 [/\R[EZE 8 1
17 89-1631-080042  [FE{fT/MEZRAFT VA M8 3
16 89-1233-080202  |/MEUFR AL F(SW.PW)M8X20 8
15 89-1233-080162  |[/NEUFRAARILE(SW.PW)MEX16 4
14 83-1711-719-00 [T A4 —/ K 200MM B 1
13 0348-10700 EES 9X35X3.2 1
12 0341-14101 *—A—/\%JLCMP B 1
11 0322-71400 F UL/ \— 1
10 0322-71300 YRS/ 1
9 0322-71100 Y92t 277891 ¢ 6 1
8 0322-11701 SAMRAT— H 1 |[HRADM00593~
0322-11201 SARRAT— H 1 |[~HRADMO00592
7 0322-11301 IN—FRR/NRJLCMP B 1
6 0322-11100 F JLEEL CMP 1
5 0322-10511 INVRJLRAT—CMP B 1 |HRADM00593~
0322-10501 INVRJLRAT—CMP B 1 |[~HRADMO00592
4 0244-73600 T ) —A—R— 1
3 0244-70300 FAPRIYF 1
2 0207-79700 +—-21vF 1
1 0207-79300 N Oy k52T (PLO56GB03) 1
e ned B & B 5 B & 4 [ & =




No.RM951-16 %E %&’\

26/52 ;)\ R)LER 3/4

@ 0312-74000/\> R ILES/INA TEASSY) A =1L D A
0342-77600(/\> FILEIE v )&

@ 0322-10110(SJ v 7kR)

® 0322-10210(ST7w/3> ¥ 7FCMP)

Y TRRT HEENEIERMER

Q¥ ~
~/

5
@m ~HRADLO00509

- 0342-77600 N\URIILEIERYE 1 12,13

13 89-1553-060002 |UFvk M6(Fx v {it) 1

12 0244-75800 N\RIILEIERILE 1

11 89-3511-022250 |DUTwi 2 22.25.33F 1

10 89-2150-050200  |¥F— (i) 5X20 1

9 89-1750-080002 [/ \REL ¢8 4

8 0322-11610 INEIR AR LM X 10(7T) Ay 54 1

7 0322-10803 SBER{TAT—CMP 4 L— 1

6 0322-10701 NUERILYR—FCMP B 1

5 0322-10210 ST7yN Y47+CMP 1 |HRADL00510~
0322-10200 ST7yN Y47+CMP 1 [~HRADKO00509

4 0322-10110 SJ ¥ Tk 1 |[HRADLO00510~
0322-10100 SJL ¥ Tk 1 [~HRADKO00509

3 0314-70100 INBYZR AR )L RMBX22 Ay 45t 4

2 0312-74000 N RIS XL TEASSY 1 |#teE1E

1 0245-74300 Ay IR JLE(SW) M8X18 4

e nel B & B 5 B & 4 [EE [l =




No.RM951-16

R

21792\ )\ R JLER 4/4

@Y HR—ILZIENE

- 0207-13000 BAOYRT ¥ ZAFASSY 2 |1.7.8.9.12
12 89-1612-100042 |/NEYIRAFvk(FH)MI0 2

11 89-1254-100252  |FEfH/IMEEZRARILE M10X25(F 8 ) 2

10 83-1493-255-00 |[ZUFR—/s—0Ov5+vk MI0GEE) 4

9 83-1493-195-00  [/NEYRAFvEGER)MI0(E) 2

8 80-1493-963-00 [')>4~7R—)LERL10 2 [XEEICLOZIENHY,
7 80-1493-962-00 [1J>4~7R—JLER10 2

6 80-1490-967-00 |RTTF7YHT—Y 2

5 80-1484-962-10 [RT 7Y I HKRyHRX ASSY 1

4 80-1020-719-00 |/NEAXYTZAk+ M8X18 2

3 80-1016-461-00 [ATYUh hin — 1

2 0322-10603 Sy Y R—k881 FL— 1

1 0207-13100 BAOYRTO¥RA 2

B B & B 5 B & 4 [ & =




No.RM951-16 §§ %ﬁ’\

28/521 088 1/4

.!—.\ﬁ‘ SN
ST (X
a“f‘/\\

9 89-1750-120002 [/\REE ¢ 12 1

8 83-1481-328-00 [FEE£E 12X30X3.2 1

7 89-1551-120002 [UF vk M12 1

6 83-1415-975-00 [FJR=vTFJLM6 1

5 83-1020-314-00 [FE£8 X 40 % 3.2 2

4 0312-74300 Ay K IWFTT-SW.PW)M10 X 30 4

3 0312-32203 2OURF7HRILERILE— FL— 1

2 0208-31000 INBIUS Y MB(E vy T Av %) 2

1 0207-30700 +>3—E > CMP 1
Rl B &' B B & % EE & =




No.RM951-16

R

29/52

JOVRER 2/4

13 89-1713-100002 |FEEL 11X25X2.3 2
12 89-1631-100042  [FEE{fH/MMEZRAFTVE M10 2
11 89-1611-100042 [/NEYREHFvE M10 2
10 89-1581-060042  [EE{+&F vk M6 4
9 89-1213-100357  [/NEIRAARILIET) M10X35(&2 1) 2
8 89-1137-060152  |7NARILEFPW) M6X15 77 tyb 5
7 83-1565-111-00  |7<FARJLFSW.PW(X)) M6 X 16 2
6 0322-31500 TIIN—DT5yINET 1
5 0322-31303 TynN=—I79n#z FL— 1
4 0322-31200 TYIN=TFYIN 1
3 0322-31103 JAUN7yN—h"—F CMP 5 L — 1
2 0312-33503 2025 y\#HBEz JL— 1
1 0312-33400 20 8259/ 1
e nel B & B 5 B & 4 [ S




No.RM951-16 %E %&’\

30/92/5qy L &R 3/4

11 89-2120-250252 [EIE> 2.5X25 2

10 89-1750-140002 [/\REZE ¢ 14 2

9 89-1668-140042 [/NEVE{TFH v (ERI2FE)M14 2

8 89-1631-080042  |EE{H/MMEERfFAFvE M8 8

7 0322-33000 3.50-7(TA) "R RX{FASSY 1 [z P32
6 0322-32000 3.50-7(TA) R X {FFASSY 1 [z P32
5 0207-31100 I HhS— 2

4 0207-30900 BRI LH/ N —HEZ 2

3 0207-30800 BRI LH/ 3 —(IN) 2

2 0207-30600 BT LH/N— 2

1 0207-30500 A ZANHIN— 2

Rl B & B 5 B & 4 [EE S




No.RM951-16 %E %&’\

315250 188 4/4

9 89-3511-020200 [DUTw< 2 20.20.31F 4

8 89-3510-025350 [DUTJw< 2 2535 2

7 89-2511-000200 [EhFH1E&HER 20 2

6 83-1490-337-00 |*FE£E 20X38X3.2 2

5 83-1415-975-00 [ JR=wTJLM6 2

4 83-1310-371-00 |RS AT v — 20X30X1.0 4

3 0322-30203 FUOE(LCMP S L— 1

2 0322-30103 FUUEV(RCMP Y L— 1

1 0312-32103 JAOUR7HA)LCMP S L— 1
Rl B & B 5 B W % [EE S




No.RM951-16

R

BALNE 1/1

0322-35000

3.50-7(TA)ERAJLEE

0322-34000 3.50-7(TA)ERA L

- 80-1751-412-00 FA X HASSY

80-1751-411-00 FA X EASSY

89-1750-100002

INTREE P10

89-1543-080002

INBU RSV R(SW) M8

89-1213-100252

INBIZR AR )LNBT) M10X25

89-1213-080162

INBY AR )LMBT) M8X16

89-1211-080162

INBRIZRE R LS M8X16

89-1113-100202

AR ILNET) M10X20

e DS CRY N 13, 1= BN -2 1<) b= o oy e I P

8
8
0342-77700 K715 6004 2NSE-NB 4
0322-32100 3.50-7(TA)ZA ¥ 2
0207-31201 BimRAILRR B 2
0207-30411 BIERRAILRR B 2
80-1751-407-00  [/RAJLtvk 16 X 7.00-8 2
80-1751-404-00 |16 X 7.00-8 AN F1—T 2
80-1751-401-00 |#A* 16X 7.00-8 2
80-1260-407-00  [hK4NEybTAF) 2
80-1260-404-00 |#A¥Fa1—7 3.50-7 2

Rl B & B 5 B & % =z




No.RM951-16

R

33/52

avkAa—)ILER 1/3

- 0323-10000 FITRA)LOYRASSY 1 4.8.9.10. 11, 14 XKHBHIZ[ZFE

- 0312-16000 < 7h0OyKASSY 1 [7.8.9.10, 11,14

17 89-1711-100002 |FEEL 10X18X1.6 2  [XKHBHIZIF1+FE

16 89-1631-100042  |EEfH/IMEZ7NFAF vk M10 4  [XKHBHIZ[Z24+ T E

15 89-1613-100042  [/MEIRFF vk M10(3FE) 1

14 89-1611-100042  [/MEIRFF vk M10 4  [XKHBHIZ[Z24+ T E

13 89-1233-080202  |/MEUFR AL F(SW.PW)M8X20 4

12 89-1213-100302  |/MEIRARILE(BT) M10X30 3  [XKHBHIZIZ17FE

11 83-1488-195-02  [/MEIRAF vk MI10(E) 2  [XKHBHIZIF14FE

10 80-1487-964-10 [OvYKFI>KPHS10EC 2  [XKHBHIZIZ14AE

9 80-1487-962-10 [AvYFI>KPHS10ECL 2  [XKHBHIZIZ14AE

8 80-1485-265-00 | JrAYRT7Z ¥ R4 2  [XKHBHIZIF14FE

7 0323-10100 FIo RS )LOvR 1 [XKHBHIZIZFRE

6 0322-75500 Fa—9P7A4Y¥Y—B&S 1 [XJUHRXIDY
0322-75300 FIa—o7A4¥— 1 XAHT XTI
0322-12106 a2 kA—)LHARCMP & 1 [IA

5 0322-12105 O hO—JLAHARCMP  E#k 1 OR
0322-12102 JkO—J)LAARCMP 7 1 |yB

4 0312-16100 2 Jkayk 1

3 0221-13200 FoH5)yT 1

2 0215-70600 LAA—=51)vyT &k 1

1 0207-72600 EYJL 8 1

B B & B 5 B & 4 [EE [l =




No.RM951-16 §§ %ﬁ’\

34/52|q, ,rO—LER 2/3

0312-17010

Fx2 T L—FASSY

5.6.9.10

89-2511-000140

B HER 14

89-2181-060122

EFEEY 6X12 (F8F) (UOX*—k)

89-2150-050100

F— (M#L)5X10

89-2132-060002

REVURITIEDHR) 6

89-1852-100000

M/\ H10

89-1750-060002

NREE ¢6

89-1711-060002

EEL£6X13%1.0

89-1611-100042

INRRABF YR MI10

89-1611-080042

INRRAF Yk M8

89-1561-100002

INYUFYE M10

89-1113-060122

NARIJLNMET) M6X12

85-1711-318-00

JL—F a1—tyhk

85-1711-317-00

BlERTYLY

83-1675-375-00

AZALT Y v— 14X23X1.0

— |t | — ] |t |t - N[N
e S 281 N (3,1 1= IRE (o 1<) b= b ) P i st = e Y P S A

e Bl Bl Bl el B Bl e Bl I B [P e D B e [ N R B e e

0322-75600 AOYRILT AV —B&S XKINVGAXIODOY
0322-75400 AOYRILT A — XHTHFIOV
0312-17200 JL—FXF3 L
0312-17100 JL—Xh/\—
0312-14200 B|ERT)Y
0312-12900 Z20yk)LL/N—
0225-11800 FIOIL—FRTYLY
0207-72300 F1oy 7 V=37V vA4
B B & B 5 B & 4 i =




No.RM951-16

HRAEC00130~ »KH,BHLL4}

23 0329-12500 FIIORA JLINSR 1 HRAEC00130~ 3¢KH,BH L4+

22 0322-12403 FORL7Z—LCMP S L— 1 HRAEC00130~

21 0312-13800 FroVRLT7—L/AR 1 |HRAEC00130~

20 89-2521-000100 [EE{1EsHidg 10 1 HRAEC00130~ 3¢KH,BHLL4}

19 89-3510-016150 [DUTJw< 2 16.15 6

18 89-2521-000120 |EE!IE&HEH 12 2

17 89-2181-060162 [FEEE> 6X16 (FvhF) (UVOX—k) 1

16 89-2132-060002 |[RE(#kIFIE&SHIT) 6 1

15 89-1713-060002 [FFESE 6X18X1.6 1

14 89-1711-100002 [FFEZ 10X18X1.6 1

13 89-1561-100002  [/MEIUF vk M10 1

12 89-1551-060002 |[UFwk M6 1

11 89-1113-060552  |7NARILFEBT) M6X55 1

10 0312-13700 FroLN—[Fh 1

9 0322-12300 37—,/ N1 (881) 1 XKH,BH®D &
0312-13600 P 7—L/\R 1 ~HRAEC001293%KH,BH L4}

8 0312-12700 Fx L /\—CMP 1

’ 0312-12423 Fr oL IN—R—ACMP 4L — 1 HRAEC00130~ 3¢KH,BHLL 4}
0322-12203 FIOLIN—R—ZACMP 4 L— 1 XKH,BHD &

6 0312-12313 hir7—L JL— 2  [HRAEC00130~ 3¢KHBHLL}
0312-12303 hiI7—LCMP S L— 2 |~HRAEC00129
0322-14113 FzoPOLIN—HARCMP JL— 1 XKH,BHD #

5 0322-14103 Fx o L/IN—HAKCMP(881) JL— 1 HRADL00563 ~ 3¢KH,BH® &
0312-12213 FxOUIN—HAKCMP L — 1 HRAECO001 30~ 3¢KH,BH L4}
0312-12203 FxOLIN—HAKCMP JL— 1 ~HRAEC001293%KH,BHLL4}

4 0312-12103 FoTS4YRCMP JL— 1

3 0244-72410 T8990 4% — 1

2 0244-13200 T 278y /\— 1

1 80-1020-263-00 [ kO—)LL/\—BART) S5 1

B B & ' 5 B & 4 [EE & =




R

No.RM951-16

36/52\ Y ER &R 1/6

HE
JIG\UO\UJIJ|4|‘.|ﬁ

El
SER
XX
%887_ &
2|Z|Z| |2
MEEESEEE
RIEIZS ] [T
| BBl

A B =1

A1 Z|Z <= DD [
- IR N -+ N
ey D T
oy By WA I L e
B2 D
(\&Hﬁ”AH/E._A
kl._\._\ | [
NN N LIS FA N
RIS |
oAnwnwlﬁ/l./\
> H[< <
NN olfie
o|o|o o
0| N =] ||| T
e =1t=l=1={=1L"]
08866481_@
= lt=1t=1=1 N =3
T 7| T [o]s|<| ]
@l T 1T |y
N e N A R D
—|N|N|N| << ~|0F
O|—|—|MV|N|N|+—
RERIR==1t=1}
ol|lo|o o
0| co|co =

HO
7654321_”___.4




No.RM951-16 §§ %ﬁ’\

31752\ yIIER &R 2/6

SN\

17 89-2131-100002 [RE> 10 2
16 89-1750-080002 [/\REL ¢ 8 1
15 89-1714-100002 |FFEL 10X21X2.0 2
14 89-1713-080002 |FEEE 8X22X1.6 1
13 89-1713-060002 |FEEE 6X18X1.6 4
12 89-1561-080002  [/NE!UF vk M8 1
11 89-1253-080352  |EEAFH/NEIFRAARILEET) M8X35 1
10 89-1137-060172  |7NARILEPW) M6X17 77 b 4
9 83-1210-484-00 [BFE/\>FJL M8 x 20 1
8 0323-50203 AH/N\—CMP FL— 1
7 0322-50700 Hh/NA—E T\ 1
6 0322-50500 BHN—HET7T—L4 1
5 0312-77500 EEftE vk M6 (Av4D) 4
4 0284-51600 YA TS5y N\ E#(88) 1
3 0284-51500 Y AR5y /N A7 1
2 0244-71600 BHIN—IF 1
1 0244-63900 BEE 10X 72 2
e nel B & B 5 B & 4 [EE & =




No.RM951-16

FRARA

38/52

Z @

XERER 3/6

\ N \\\\, %
N
SV

ol

e

=4

13 89-2131-100002 [RE> 10 2
12 89-1714-100002 |FEEL 10X21X2.0 4
11 89-1713-060002 |FEEE 6X18X1.6 4
10 89-1671-080042 [/MEIRARF v~ M8 3
9 89-1233-080162  [/NEUFRAAIL(SW.PW)MEX16 3
8 89-1137-060172  |7NARILEPW) M6X17 77 b 4
7 83-1751-312-00  [FREE 8X25X3.2 3
6 0323-51200 HYARISYNER 1
5 0323-51100 AR5y N KR 1
4 0323-50310 EHA/IN—CMP 5L — 1
3 0312-77500 EEfTR vk M6 (Av49) 4
2 0244-71600 BHIN—IF 1
1 0244-63900 HEEE 10X 72 2
e nel B & B 5 B & 4 [EE & =




No.RM951-16 §§ %ﬁ’\

39/52\ I ER &R 4/6

22 89-3510-012200 [DUTwi 2 12.20 2
21 89-2521-000100 |E&!iFsHEF 10 2
20 89-2181-060162 [FEEE> 6X16 (FuA) (ZAA—F) 1
19 89-2120-200152 |EIE> 2X15 1
18 89-1713-060002 |FFEL 6X18X1.6 2
17 89-1671-080042 [/MEIRARF v~ M8 3
16 89-1581-060042  [FE{tRF vk M6 4
15 89-1233-080202  |/MEUFR AL F(SW.PW)M8X20 3
14 89-1233-080162  [/MNEUFRAARIL(SW.PW)MEX16 3
13 89-1137-060172  |7NARILEPW) M6X17 77 b 4
12 89-1137-060152  |7NARILFPW) M6X15 77 tyb 2
11 83-1751-312-00 [FFEE 8X25X3.2 3
10 83-1565-329-00 [FRESE 13X22X2.3 (O A—F) 4
9 0323-50500 XY AR TS5y \— 1
8 0322-75200 F42IL—FDA4Y¥— 1
7 0322-50403 Y7H—F JL— 1
6 0312-77500 EEfEF vk M6 (Av4H) 2
5 0284-50300 72759 1
4 0244-61403 Y7 25v/\#8z FL— 1
3 0244-50713 FATITL—FR—ZACMP 4 L— 1
2 0244-50603 +42IL—FCMP FL— 1
1 80-1485-551-00 |FE{TT a3/ \# 1
e ned B & B 5 B & 4 [ & =




No.RM951-16 §§ %ﬁ’\

40/52| i By &h 5/6

% PNy NTE
=
[

=

A
- 0322-52000 —v7 LKLYk 1 12,13
— 0244-78010 T4 &EUFRILEEYE 1 1.2, 6,8, 92(F445 7 )
- 0244-78210 mftRIL Y 2 [2.6.8QlF2~TEH)
17 89-1750-200002 [/\REE ¢ 20 1
16 89-1750-120002 [/\REL @12 3
15 83-1483-175-00  |&®FvFEAM20(Av %) 1
14 83-1483-129-00 |FATAT—HR{FTARILEM12 X 30 2
13 83-1415-975-00 [¥JR=w7JLM6 1
12 0322-52200 =7 LR ILEM12 x 35 (8T) A {it 1
11 0312-51803 B TL—RCMP S L— 1
10 0312-50303 +A427T—1)—CMP 45 L— 1
9 0244-89100 +42 2
8 0244-74600 N=hD0vHFyM14 2 |XETFtyrTlA
7 0244-52103 FATXxYHIH—K JL— 1
6 0244-51800 FybH—F 2
5 0238-51103 FT42755 vk JL— 1
4 0221-76100 FEE12x40X 6 1
3 0261-50100 FATART — 1 |[EXtEEk

0207-50500 FATAT— N2 (R792A) 1
2 0207-50200 FA7EUFRILE 2
1 80-1483-818-00 | ATH5— 2
e nel B & B 5 B & 4 [EE & =




R

No.RM951-16

41752\ I Btk 6/6

iy
No
Ly
e
= He
i
Y HES
T
5
e
1241111@
| &
N “D
S o
oln| |ale o5
ol S|
L~ Lo =2
™ Ho
Slg|atl
SRR
E
_H/m,ﬂ_ -+
A NN A
wnz._h_juu.mmo_/
47ﬁ_4iﬂ
K< K[ P E =
NRal=) iy
— |~
alo|o|m|olo|lo
o|lo|o|o|o|o|o
0601711%
SHl= = = I N =)
T T~ [o|w
—(wl| ]
AN|—|[—[D|N|N|N|
—|—|w|N|N|N|©o|OF
W m|N[|D|(n|N
NENBNI=I=l[=](=)
olo|o
o0|o0|co [=3
Ho
76543215&.




No.RM951-16

R

—bER 1/3

15 89-1750-080002 [/ \REZL 8 2
14 89-1711-100002  [FFEZ 10X18X1.6 4
13 89-1561-100002  [/MEIUF vk M10 2
12 89-1553-060002  [UF vk M6(FAyT{t) 2
11 89-1543-080002  [/NEYFRAFvE(ESW) M8 2
10 89-1233-080162  [/NEUFRAARIL(SW.PW)MBX16 4
9 89-1232-080202  |/DMEE7SAARILE(SW) M8X20 2
8 83-1415-312-00  |EE& 9x30x3.2 2
7 0322-21601 —hIS4yECMP_H 1
6 0312-70700 R rybo)v71.0 1
5 0244-73700 fEfT5 OAyk-24 1
4 0244-22200 —hI S ybkRILE 1
3 0221-71900 21)w 7 CT-339 1
2 0207-72700 HRART)4 KMF50-40 1
1 80-1792-988-00 [/\—FRRH)wT 1
B B & B B B & 4 [EE & =




No.RM951-16

R

43/52|s,—h#8 2/3

13 89-1714-100002 |FEEL 10X21X2.0 4
12 89-1561-100002  [/NE!U+F vk M10 2
11 89-1531-060042  |EEft7;NFEF vk M6 1
10 89-1390-060162  [jAIEARILE M6X15(HZOA—k) 1
9 89-1253-100202  |F7ARJLIMBT)M10 X 20 2
8 89-1233-080202  |/MEUFR AL F(SW.PW)M8X20 4
7 0322-73100 S —kHN— 1
6 0312-22300 O—hAR—Y—T L 2
5 0312-21200 —hEZIT 1
4 0284-78100 —hk K4 B) 1
3 0207-74400 t+—2JF4—RAYF K17850 1
2 0207-72900 —bhRAYFRIYLY 1
1 0207-72800 ZAyFAYHF Uk 1
e nel B & B 5 B & % [EE ik &




No.RM951-16

R

44/52

—bER 3/3

12 89-2521-000120 |EF!IF&HEH 12 6
11 89-1714-100002 |FEEL 10X21X2.0 1
10 89-1211-100302  [/NEYRARILE M10X30 1
9 83-1020-363-00 |RS AR v ¥— 16X24X1.0 12
8 0312-22101 A7) T ETvHICMP B 1
7 0312-21800 PV 2
6 0312-21701 —bhETIIB H 2
5 0312-21601 ETV—RJ2OCMP H 1
4 0312-21501 YT viIN—D 5y ECMP B 1
3 0312-21401 YO T viIN—D 5y ECMP B 1
2 0312-21101 T vIN—D 5y CMP B 1
1 0244-71200 S—R)UHRTG 2
Rl B & B 5 B & % [EE g &




No.RM951-16 %E %&’\

AJYFT

4

\:
\
ok

e

f 1/3

- 0322-74000 PAFI TV ASSY 1X247.4.8
- 0322-72500 BREITR—R Y1y {3 L270 1X247.8
- 0322-72400 BREAR—R 1)y T L600 1X245.1

89-1251-120152

EEfHINEE 7R AR ILE M12X15

—_—
o=

89-1233-080202

INBY S TR )L M(SW.PW)MBX 20

89-1233-080162

INBY S A7 )L M (SW.PW)M8BX 16

80-1792-988-00

IN—RRDV)yT

9
8 0322-70500 PBREF—Z 1270

7 0322-70400 BRI F—Z 1600

6 0312-77300 AT YT /N—FRR

5 0312-44100 A4 ILEL 2 7R—X (K) ASSY 0') P16 {1/E
4 0244-74500 BARIYY

3 0207-74900 gR/ v 12.5x19x1.0

2

1

80-1483-988-00

f—29)y72°17

o N e Bl el Bl el el el el el el e

0

B

\

& & 5

(EE: & #




No.RM951-16 %E %&’\

o>

e

4

\
ok

46/52 HIHET

f 2/3

\'I

11 89-1750-080002 [/ \REZL 8 4
10 89-1711-060002 |FEEL 6X13X1.0 4
9 89-1611-080042  [/NRUREF vk M8 4
8 89-1233-080202  |/MEUFR AL F(SW.PW)M8X20 2
7 89-1232-080202  |/DMEEFSAARILE(SW) M8X20 2
6 89-1132-060122  |7NARILEESW) M6X12 4
5 0322-40300 IX/\(H/\— 1
4 0322-40100 T X /X{CMP(FS481V) 1
3 0312-70500 XI75—/\UK 1
2 0312-40500 < J5—H/A\—CMP 1
1 0312-40100 75— 1
kel B & B B B W 4 [EES ik &




No.RM951-16 %E ﬁ?&’\

47/52

12 9024-0010 A HFXIT T FS541V-AG82 1
11 89-6123-003202  |VA )Lk (FE1T)SB-32 W800 1
10 89-1812-100002  |s&{TFES (HEE) 10 1
9 89-1750-100002 [/\REE 10 4
8 89-1750-060002 |/ \AEE 6 1
7 83-1493-300-00 |/\REE 7/16 1
6 83-1437-115-00  |/xFA7RJLNUNF7/16-20 X 35 1
5 0322-42100 IV Y7 =)= 1
4 0312-42100 7 FEARJLRBT)UNC3/8-16 X 38 4
3 0240-51300 IO Hh5—33(B&S) 1
2 0207-76300 Fyb(A=T7A/HMH)1/4 1
1 80-1487-516-00 |FE 6tx40Xx 11.5 1
B B & ' 5 B & 4 [ g =




No.RM951-16 %E ﬁ?&’\

>

v

(4

\a
ok

48/52 JYFZT

B 1/3

\'I

- 0322-74000 BRE O ASSY 1 [1x24.3.7
- 0322-72500 BREIR—R 5y TF L270 1 1X24. 7

- 0322-72400 BRELR— 41w T4+ L600 1 [1x24.6

9 89-1251-120152  [EEfH/IMERARILE M12X15 1

8 89-1233-080202  [/NE!FK AL F(SW.PW)MBX20 1

7 0322-70500 PBREF—Z L1270 1

6 0322-70400 PRI F—Z 1600 1

5 0322-43100 #4ILEL > (B&S)ASSY 1

4 0312-77400 T RIN—F R 1

3 0244-74500 BREYY 1

2 0207-74900 A/ VyE 125x19x1.0 1

1 80-1483-988-00 [k—2%Yy7'17 4

&= B & ' B B & 4 EE g =




No.RM951-16 %E %&’\

>

v

(4

\:
ok

49/52 JYFZT

B 2/3

\'I

9 89-1711-060002 [FEFEE 6X13X1.0 4

8 89-1233-080202  |/MEUFRKAARILF(SW.PW)MEX20 2

7 89-1232-080202  [/Miz7<ARILE(SW) M8X20 6

6 89-1132-060122  |7<FA7RJLE(SW) M6X12 4

5 0322-40400 T3 /8({H/\—(B&S) 1

4 0322-40200 I3 /\{CMP(B &S) 1

3 0312-70500 TI75—/\UFR 1

2 0312-40500 < 75—5H/\—CMP 1

1 0312-40100 75— 1
BE B & ' 5 B & A 1 I =




No.RM951-16

R~

JUYJRT

& O

—_—
o

89-6123-003202 [V~ )Lk (zE4T) SB-32 W800

1
9 89-1812-080002 |t {TFES (M) 8 1
8 89-1543—-080002  [/NEYNEFVRSW) M8 4
7 89-1253-080402  |EE{H/IMEEFSHAARILEET) M8X40(H/HA—F) 4
6 83-1493-300-00 [/ \FREZL 7/16 1
5 83-1437-115-00  [7NFA7RJLRUNF7/16-20 X 35 1
4 0322-42100 Iy Y7 =)= 1
3 0240-51300 I 2h5—33(B&S) 1
2 80-1487-516-00 |EE% 11x40x6t 1
1 9011-0881 JYH RIS 356777-0143-B5(18HPE/G) 1

0

B

\

B Mm%

5 B & % [ {i&




No.RM951-16 %E ﬁ?ﬁ’\

51/52

A—2234 ¥t yk

- 0322-30000 RA—=314¥ vk 1 1~11(2%3%) RM881
- 0323-30000 =234V vk 1 ;e;/l';;f/ﬁﬁ;;tgsm,gss
11 89-2120-250252 [EIE> 25x%25 2

10 89-1750-140002 [/ \REL ¢ 14 2

9 89-1668-140042 /NGBS FYRIEEI2FE)M14 2

8 83-1310-371-00 [RSRAKFT v +—20% 30X 1.0 6

7 80-1482-413-00 [14 X 500-62— 22 A{ ¥ 2

6 80-1050-411-00 |16 X 650—-8%— 73 A 2

5 0342-77700 K715 6004 2NSE-NB 4

4 0322-30500 A—7HAF I E(L)CMP 1

3 0322-30400 A—7HAFUIEU(R)CMP 1

2 0312-32200 2079t )ILERILE — 1

1 0207-30500 A ZRHIN\— 2

B B & ' 5 B & A 1 I =




No.RM951-16

R

92/92
/ 7

~NJ)LER RM951

EE

MRS IB T

mltl&‘i‘!‘&

0289-72110
IVOUFAITRIL

0323-77100
H AR5~ JLRLRMY951

BB OhIN—FEB~

/777 OREC

 0312-76900 0 - 0322-78800
ORECRAIV—%B05 RMEZ&(—fR)5RIL ORECAIY—%B03

TURBH VR =% YFFIR
o

. ‘iﬁii*—*.ﬂ: :
0334-809
ﬁ¥§m¢7’\)l«(d\)

0322-77110
AUTFS5R)L(883)

0244-80700
NRILR—9(F)

__0312-78200
ETRAAYMLRATYA—

A

0322-78200

18! 0342-71200
RM881XIZ Y —4 25X

( v )

_0322-78100 \
TIAYIINIL 0328 74600
SR)L

'}'47'\)%73/\—&7{5'\

Y—hRBIEE
ARUOUEEADUTILNEBL
Nronsennys

Bd Ppr

. 034271300
S—hN\RFESANL

|
o

AXER

R2OLD ARREHYT
:QIH(—EI!UNWG

0328- 74600
EEIN

0215-70410
EITI79FINIL

3mEa—

P -
Fr—Y
20A

7otvy
10A

F M
20A

. 032277810

0322-77810
BOX5~L

FRRIBEHR
% A
RE 1% £ A
(1 2820

0238-71200
RIREEIANIL




20135-12H17H
202154 1H
20224F6 4 18 H

202344 H 18 H

AT
ET14
ET15

UFET16

P16 AW

P52 AW



	Button36: 
	Button37: 
	Button38: 
	Button39: 
	Button40: 
	Button41: 
	Button42: 
	Button43: 
	Button44: 
	Button45: 
	Button46: 
	Button47: 
	Button48: 
	Button1: 


